

कार्यालय नगर निगम जोधपुर दक्षिण



पोलोटेक्निक कॉलेज, रेजीडेन्सी रोड,जोधपुर ceo_nni@rediffmall.com"tel 02912651464 fax 2651466

क्रमांकः-न.नि.जो. / दक्षिण / SBM / 2022-23 / २२०

दिनांक:-01/02/27

अल्पकालीन निविदा सूचना

(यूनिक बिंड संख्या)

नगर निगम जोधपुर दक्षिण की और से निम्नलिखित कार्यों हेतु भारत सरकार एवं राज्य सरकार के विभिन्न विभागों / स्वायतशाषी / निगमों / बोर्डो / राजकीय उपक्रमों में पंजीकृत ए.०ए व ए. श्रेणी में पंजीकृत तथा नगर निगम जोधपुर में निर्धारित श्रेणी में पंजीकृत नियमानुसार योग्य संवेदको से निर्धारित प्रपत्र में मुहरबन्द निविदा आमंत्रित की जाती है। निविदा दिनांक 16/02/2023 को 12:30 बजे तक बेची जाकर, दिनांक 16/02/2023को दोपहर 2:00 बजे तक प्राप्त कर 3:00 बजे उपस्थित संवेदको के समक्ष खोली जायेगी। अन्य विवरण एवं शर्ते निविदा प्रपत्र कार्यालय समय में कार्यालय में देखे जा सकते हैं। है। www.sppp.rajasthan.gov.in, एवं जोधपुर नगर निगम, दक्षिण की website http://urban.rajasthan.gov.in. /mcjs पर देखी जा सकती है।

क्रं.	कार्य का नाम	-	, , , , , , , , , , , , , , , , , , , ,		
सं.		अनु.	घरोहर	निविदा	कार्य पूर्ण
		लागत	राशि	शुल्क	करने की
	Den week and the second	लाखों में		3.	अवधि
1	REPAIRING OF TOILETS & URINALS AT VARIOUS PLACES IN	4.97	9,940/-	·	
	WORD NO. 1 TO 28 IN NAGAR NIGAM IODUBLE SOUTH	4.97	9,9407 —	500/-	3 माह
2	REPAIRING OF TOILETS & URINALS AT VARIOUS DIACES IN				
	WORD NO. 29 TO 55 IN NAGAR NIGAM JODHPUR SOUTH	4.97	9,940 / —	500/-	3 माह
3	REPAIRING OF TOILETS & URINALS AT VARIOUS PLACES IN				
	WORD NO. 56 TO 80 IN NAGAR NIGAM JODHPUR SOUTH	4.97	9,940/-	500/-	2 7772
4	GIEUR AUG GAU ANN AGAR NIGAM JODHPUR SOUTH			3007 -	3 माह
7	जोधपुर नगर निगम दक्षिण के विभिन्न स्थानों पर साईन बोर्ड	1.81	3620/-	500 (
	्राचीन की कीय	1.07	30207 -	500/-	1 माह
नाट:-	-(1) दरे तीन माह तक मान्य होगी। (2) कर्ण गारे -				

तीन माह तक मान्य होगी। (2) कार्य शुरू करने से पूर्व व कार्य पूर्ण करने के पश्चात् कार्य स्थल की फोटो आवश्यक रूप से प्रस्तुत करे। (3) सशर्त निविदा स्वीकार नहीं होगी। (4) दोष निवारण अवधि नियमानुसार होगा। (5) धरोहर राशि के डिमाण्ड ड्राफ्ट की वैधता निविदा की जा सकती है। (6) आयुक्त नगर निगम जोधपुर के आदेश क्रमांक 9836 दिनांक 7.02.2020 एवं 9975 दिनांक 14.07.2020 अनुसार पंजीयन रिव्यू आदेश के तहत निविदा स्वीकार/अस्वीकार की जायेगी। (7) श्रीमान निदेशक, स्वायत शासन विभाग, राजस्थान जयपुर के आदेश क्रमांक 144612-825 दिनांक 22.11.21 की पालना में वित विभाग की अधिसूचना आर.टी. पी.पी. नियम 2013 में Additional Performance Security के लिये नियम 75—ए के अनुसार Additional Performance

> अरूण कुमार पुरोहित (I.A.S)

आयुक्त जोधपुर नगर निगम, दक्षिण दिनांक :01/02/2023

४४६०० १४६० कांग्ब प्रतिलिपि:--

1. महापौर महोदया , नगर निगम जोघपुर दक्षिण ।

2. निजी सहायक, आयुक्त महोदय, नगर निगम जोधपुर दक्षिण।

लेखाचिकारी, नगर निगम जोघपुर दक्षिण (संबंधित) ।

4.अधिशाषी अभियंता नगर निगम जोधपुर दक्षिण (संबंधित)।

5. सहायक अनियंता / कनिष्ठ अनियंता, नगर निगम जोधपुर दक्षिण (संबंधित)।

6. श्री रामेश्वर गहलोत, प्रोग्रामर नगर निगम जोघपुर दक्षिण को भेजकर लेख है कि उक्त अल्पकालीन ई—निविदा सूचना (1) urban.rajasthan.gov.in/mcjs (2) sppp.rajasthan.gov.in पर अपलोड करे एवं निविदा सूचना जोघपुर क्षेत्रीय समाचार पत्र

7. सूचना पट्ट नगर निगम जोधपुर, दक्षिण ।

जोधपुर नगर निगम, दक्षिण

OFFICE OF THE NAGAR NIGAM, JODHPUR

Based on RUIDP bsr 2022

G-SCHEDULE

NIT No. 270	Date 01/02/2023	Sr No. 01
Last Date of Sale	≽ .	Earnest Money: Rs
Date of Receipt :-		CR No Dated

Copy issued to M/s

Name of work:-Repairing of toilets and urinals at various places in ward no. 1 to 28 in nagar nigam jodhpur south

S.No.	Item	Qty.	Unit	Rate in	Amount
1	Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out theexcavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level. In all types soils/ saturated soil such as moorum, sand, sandy silt,clay, black cotton soil, kankar, etc. Depth upto 1.5 m	16.2	cum	210.5	3410.1
2	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level :1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size).	0.4	cum	4340.00	1736
3	Random rubble masonry with hard stone in foundation and plinth: Cement mortar 1:6 (1 cement: 6 coarse sand) Coursed rubble masonry (second sort) with hard stone in foundation & plinth with : Compart must be seen as a second sort.	3.8	cum	4245.00	16131
	coarse sand) Extra for coursed subble and contact 1:6 (1 cement : 6	7.6	cum	4930.00	37468
	stories.	7.6	cum	890.00	6764
	Cement plactories (4 coarse sand)	2.8125	cum	704.00	1980
	fine/ coarse sand) P & F Marble Urinal Partition slab both sides	117.5	sqm	284.00	33370
1	Quality White or Andhi Indi-Italian marble. Providing and fixing 1st quality standard white	8	each	764.00	6112
9	fume red brown, light green, light blue and other light shades x 300mm in walls, floors, steps, pillars etc. laid on a bed of neat mixed with pigment to match the shade of the tile complete (excluding the cost of cement plaster on walls and pillar).	30	each	837.00	25110

Providing and fixing 1st quality MAT finished ceramic tile size 300x300mm confirming to IS: 13755 and IS: 15622 colour such as white, grey, ivory, fume red brown, light green, light blue and other light shades in floors, steps, pillars etc. laid on a blue and other light shades in floors, steps, pillars etc. laid on a	t			-
bed of neat cement slurry finished with flush pointing in the white cement mixed with pigment to match the shade of the tile complete (including the cost of cement mortar bed 1:4).	15.00	sqm	814.00	12210
Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the	10.00	each	4595.00	45950
Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440mm with integral type foot rests.	10.00	each	4775.00	47750
Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps.	10.00	each	2620.00	26200
Carriage of materials by mechanical transport including loading, unloading and stacking: Earth 5 km	15.00	cum	245.95	3689.25
Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and	10.00	each	4505.00	45050
Iquality (screwed end): 25mm nominal hore vertical	5.00	each	705.00	3525
pipes, having thermal stability for hot & cold water supply				0
	20.00	metre	187.00	3740
	20.00	metre		6160
water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	10000.00	per litre	8.80	88000
than 88 gms.	25.00	each	147.00	2075
Providing at site, lowering & laying in trenches, aligning & jointing of PVC-U pipes (SN 8) as per IS 15328 (amended up to date) and as per specifications with rubber rings with socket and spigot joint, (EPDM/SBR) for all depths for pipe length as per drawing and specification including hydraulic field testing (including the cost and conveyance of water to site for testing) and commissioning etc complete as directed by Engineer. Note				3675
	closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440mm with integral type foot rests. Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps. Carriage of materials by mechanical transport including loading, unloading and stacking: Earth 5 km Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and Providing and fixing gun metal non-return value of approved quality (screwed end): 25mm nominal bore vertical Providing and fixing chlorinated polyvinyl chloride (CPVC) pipes, having thermal stability for hot & cold water supply 15mm nominal outer dia. Pipes Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, and overflow pipes but without fittings and the base support for tank Providing and fixing PTMT bib cock of approved quality and colour, 15mm nominal bore, 86 mm long. Weighing not less than 88 gms. Providing at site, lowering & laying in trenches, aligning & date) and as	closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440mm with integral type foot rests. Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps. Carriage of materials by mechanical transport including loading, unloading and stacking: Earth 5 km Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and Providing and fixing gun metal non-return value of approved quality (screwed end): 25mm nominal bore vertical Providing and fixing chlorinated polyvinyl chloride (CPVC) pipes, having thermal stability for hot & cold water supply 15mm nominal outer dia. Pipes Providing and placing on terrace (at all floor levels) Providing and placing on terrace (at all floor levels) Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long. Weighing not less 10000.00 Providing at site, lowering & laying in trenches, aligning & date) and as per specifications with rubber rings with socket and spigot joint, (EPDM/SBR) for all depths for pipe length as longing by draulity field to the site	closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixures complete including cutting and making good the walls wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440mm with integral type foot rests. Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps. Carriage of materials by mechanical transport including loading, unloading and stacking: Earth 5 km 10.00 each Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and Providing and fixing un metal non-return value of approved quality (screwed end): 25mm nominal bore vertical Providing and fixing chlorinated polyvinyl chloride (CPVC) pipes, having thermal stability for hot & cold water supply 15mm nominal outer dia. Pipes 25mm nominal outer dia. Pipes 25.00 metre Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long. Weighing not less 25.00 each Providing at site, lowering & laying in trenches, aligning & date) and as per specification with rubber	closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern W.C. pan of size 580x440mm with integral type foot rests. Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps. Carriage of materials by mechanical transport including loading, unloading and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350mm and Providing and fixing gun metal non-return value of approved quality (screwed end): 25mm nominal bore vertical Providing and fixing chlorinated polyvinyl chloride (CPVC) pipes, having thermal stability for hot & cold water supply 1000 metre 187.00 1000 metre 187.00 1000 metre 308.00 1000 polyethylene water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, and overflow pipes but without fittings and the base support for lank Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long. Weighing not less 10000.00 11000.00 125.00 126.00 127.00 127.00 128.00 129.00 120.00 120.00 120.00 120.00 120.00 120.00 120.00 120.00 120.00 120.00

*	1 Lile	30.00	metre	267.50	8025
	110 mm nominal dia.	30.00	metre	558.00	16740
21	Painting with synthetic enamel paint of approved brand and manufacture ti give an even shade : Two or more coats on new work.	100.00	sqm	97.50	9750
22	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade New work (two or more coats) over and including priming coat with cement primer.	100.00	sqm	125.00	12500
23	P & F Inlet Connection (Angle Valves) Superior quality, of approved make, for Wash basin, Gyser etc.C.P. Inlet connection 15mm.Brass (IS: 8931 marked) with 37 cm long pipe and nut.	5.00	each	432.00	2160
24	P & F Flush Cock / Flush Valve (IS : 9758 Mark) or WC of approved quality make :C.P brass Half-turn exposed 25mm nominal bore	5.00	each	547.00	2735
25	Steel work welded in built up sections/ framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	50.00	each	548.00	27400
	Total				
Say				497340.35 4.97 lacs	

Terms and Condition :-

- सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो / विडियोग्राफी सीडी आवश्यक रूप से कार्यालय
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER NAGAR NIGAM SOUTH JODHPUR.

I/We hereby agree to do the above work @ _ ____ Above/below the "G" Schedule.

(Signature of Contractor)